pull of P, [ pull of goverp parameter

107!

107!

107 107

ol

10

1.2

Ratio
Ratio

iy

'.'E""'l’".'i""'-."’ ..'.'.."5"""""':".'
Pl e

0.8 L kel el 0.8

~10 —8 -6 -4 -2 0 2 4 6 8 10 -

R e T

|_\

—=— DQM_CKF_TThase
|_ DQM_mkFit TThase |

[ pull of @parameter | [ pull of 6 parameter |

e res 0.0 ! res 0.05.

S O ————

res
i Bey o ke

e

CNAXT

107}

1072

1073

10—4 ..........................

1.z

1.1

IIII_IIIII T T IIIIIII
R ————

Ratio
Ratio

[y
IRALLILARAI]

0.9
08

08§ 6 4 20 2 4 6 810

=

G TETTE 4 3 0 2 4 6 8 10

| pull of dxy parameter | pull of dz parameter

-0.
161:]351%‘61 e
SR ~OPedt
.TIES

0.0,
iifBey, 8§%
y@ﬁpa _ _ !

107}

107}

R o

Ratio
Ratio

i S e
0-8-6-4-20 2 4 6 8 10

=

108 6 4 2 0 2 4 6 8 10 )



	Contents
	Page 1


